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4EY oF 2t X x TOfY | ®oj o | |X[Hx | HERY

14 34 51 74 1044

Gl x| =AE HHY 15 OFRICIE 2 E | 20010205 | TONEX| | 12,264 e 85.04 51.18 87.08 86.11 60.00
T X ZAE OFHY 15 OFRICI 2 E | 20010205 | TOHEX| | 15970 ObR & 85.07 5336 81.76 80.62 75.62
I X ZAE OFH Y 25 OFRCIZE | 20071024 | TWONEX| | 28452 ObR & 92.19 88,51 9848 92.88 84.25
MM ZAE A 1S(TSILY)| YBCIS2E | 20010205 | TO4SX| | 4,197 A - 71.01 75.13 55.46 5336
X ZAE OFYE 15 (TSIL)| YBCIS2E | 20010205 | TO4SX| | 3,804 ObE & - 70.75 76.74 54.95 57.32

HIFXZME HAHF(TFAM2) | SBCOHREES | 20010205 | THOiEX| 182 N - - - - -

<MEIIE>
7t ®RAlE R AEL2RE L 3,57, 108 Y AE. 1~12. 31)| A A T RN EMNA| FA|=D U= A4H+2| e
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Lt (OfA) 2012. 9 & XY 107 ASF /A=
- (A) 20021 (1. 1~12. 31)2| Al A2k : 1,000A
- (B) 2002iA(1. 1~12. 31)0ff EfALZFE] O] &2 A 7= 1 100A
- (O (A+B) & 2012. 92 TMHX| EfALR O & AlSf A== - 30
- (D) (A+B) & 2012. 9& L7HX| ShX| & A= - 200A
= QX|& = (A+B-C-D) / (A+B-C) = 870 / 1,070 = 81.31%
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